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			1) The equation


      


has a solution between 3 and 4


Use a trial and improvement method to find this solution, giving your answer to 1 decimal place.
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			2) The equation


      


has a solution between 3 and 4


Use a trial and improvement method to find this solution, giving your answer to 1 decimal place.
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			3) The equation


      


has a solution between 5 and 6


Use a trial and improvement method to find this solution, giving your answer to 1 decimal place.
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			4) The equation


      


has a solution between 5 and 6


Use a trial and improvement method to find this solution, giving your answer to 1 decimal place.
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Solutions for the assessment Trial and Improvement

			1)  


			2)  





			3)  


			4)  













